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QUESTION 1

Which two statements are true about Classification algorithms?
A. They predict numeric values along a continuum.

B. They extract rules using unsupervised learning.

C. They assign cases to target categories.

D. They require known outcomes to guide the learning process.

Correct Answer: AD

QUESTION 2

Which two statements are true about supervised machine learning?

A. There is no previously known result to guide the algorithm in building the model.

B. It does not specify a target, it can be applied to a population of interest.

C. Itis used to extract meaningful insights from raw data to improve data operational efficiency.

D. It generally results in predictive models.

E. The learning process is directed by a previously known dependent attribute or target.

Correct Answer: DE

Explanation: Supervised learning is also known as directed learning. The learning process is directed by a previously
known dependent attribute or target. Directed data mining attempts to explain the behavior of the target as a function of
a set of independent attributes or predictors. Supervised learning generally results in predictive models. This is in
contrast to unsupervised learning where the goal is pattern detection. The building of a supervised model involves
training, a process whereby the software analyzes many cases where the target value is already known. In the training
process, the model "learns" the logic for making the prediction. For example, a model that seeks to identify the
customers who are likely to respond to a promotion must be trained by analyzing the characteristics of many customers

who are known to have responded or not responded to a promotion in the past.
https://docs.oracle.com/cd/E18283_01/datamine.112/e16808.pdf

QUESTION 3

You are working as an application developer using Oracle Machine Learning Notebooks and want to get your project
and notebooks reviewed by a subject matter expert (SME). You granted the Developer permission to the SME on the
workspace.

Which two actions can be performed by the SME?

A. Create new projects.

B. Create jobs for shared notebooks.
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C. View, create, run, and update any notebook in the workspace.
D. Create new workspaces.
E. View and run jobs of shared notebooks.

Correct Answer: AD

QUESTION 4

When managing models using the Model Repository screen from the OML AutoML Ul, what are the four operations a
user can do to models and model deployments?

A. Change the deployment date of a previously deployed OML in-database model.

B. Delete an existing OML in-database model.

C. Change the namespace of a previously deployed OML in-database model.

D. Deploy an existing Oracle Machine Learning in-database model as a REST endpoint in OML Services.
E. Change the owner of a previously deployed OML in-database model.

F. Undeploy a previously deployed OML in-database model.

Correct Answer: ACDE

QUESTION 5

Which three statements are true about Oracle Machine Learning Notebooks?
A. Itis used to manage and monitor database objects.

B. It provides a web-based interface for data analysis.

C. Itis used to access machine learning algorithms.

D. It is used to create low-code applications.

E. It is used for data preparation and exploration.

Correct Answer: BCE
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